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PSC Miscellaneous Exam. – Practice Set
Answer with Explanation
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xÄy!‰þ¦þy¢Å
1. (d) x˜%Ÿ#œ˜ ¢!›!“þ 1902 ¢yöìœ îy!îûw „%þ›yîû ö‡y¡ì– ë“þ#w˜yí

îÄy˜y!‹Å ~î‚ ²Ìí›˜yí !›e myîûy ‰þyœ% £öìëû!ŠéœÐ
2. (c) xíÅ!îœ=!œ Ö•%›ye îûyÜTÉþ™!“þîû ¢%þ™y!îûöìŸ öœy„þ¢¦þyëû öþ™Ÿ

„þîûy £ëûÐ ¢‚!î•yöì̃ îû 110 ˜‚ •yîûyëû xíÅ!îœöì„þ ¢‚Kþy!ëû“þ
„þîûy £öìëûöìŠéÐ

3. (c) !” „þÁ™öìÝþÆyœyîû xÄyuþ x!vþÝþîû ö‹˜yöìîûœÐ
4. (d) 5 îŠéîû

 ~!Ýþ ~„þ!Ýþ xy•y !î¦þy†#ëû ¢y‚!î•y!˜„þ ¢‚ßþiy (Article
280)
 ~!Ýþ 1951 ¢yöìœ xyöìÁº”„þîû „þ“,Åþ„þ ²Ì!“þ!Ûþ“þ £ëûÐ
 ~!Ýþ 5 îŠéîû xhsþîû îy îûyÜTÉþ™!“þîû !îöìî‰þ˜y x˜%ëyëû# !˜!”ÅÜT
¢›ëû xhsþîû ¢‚ßþiy!Ýþ îûyÜTÉþ™!“þ „þ“,Åþ„þ †!àþ“þ £ëûÐ
 ~„þ‹˜ ¢¦þyþ™!“þ ç ‰þyîû‹˜ ¢”¢Ä ²Ìöì“þÄöì„þ£z îûyÜTÉþ™!“þ
„þ“,Åþ„þ !˜ë%_«Ð

5. (d) !”îÄ„þ
 ÷„þî“Åþ !îöìoyöì£îû ˜yëû„þ !Šéöìœ˜ !”îÄ„þÐ ~£z !îöìoy£
¢‚‡!Ýþ“þ £öìëû!Šéœ !m“þ#ëû ›£#þ™yöìœîû !îîû&öìkþÐ
 !m“þ#ëû ›£#þ™yœ !”îÄöì„þîû !˜„þÝþ þ™îûy!‹“þ ç !˜£“þ £˜Ð
²Ìí› ›£#þ™yœ !Šéöìœ˜ (988-1038) ˜î› þ™yœ îûy‹y “þyöì„þ
þ™yœ î‚öìŸîû !m“þ#ëû ²Ì!“þÛþy“þy îœy £ëûÐ
 îûy›þ™yœ ÷„þî“ÅþÄ !îöìoy£ ”›˜ „þöìîû̃ Ð

6. (b) ¢Á±!“þ ¦þyîû“þ ç îy‚œyöì”öìŸîû ›öì•Ä öëïí ¢y›!îû„þ ›£vþüy
xyöìëûy!‹“þ £œÐ ~îŠéîû ~£z ›£vþüyîû ˜î› ¢‚ßþñîû’ x˜%!Ûþ“þ
£œÐ ~£z ›£vþüyîû vþzöìjŸÄ £œ ¦þyîû“þ ç îy‚œyöì”öìŸîû
ö¢˜yîy!£˜#îû ›öì•Ä xyhsþƒ¢Á™„Åþ ~î‚ ¢£öìëy!†“þy ö‹yîû”yîû
ç ²Ì¢y!îû“þ „þîûyÐ

7. (d) ößþTÉöì²Wzy›y£z!¢˜
 öþ™!˜!¢!œ˜ ~„þ²Ì„þyîû xÄyöìrÝþyîyöìëûy!Ýþ„þÐ ~!Ýþ öþ™!˜!¢!œëûy›
˜y›„þ Šéyey„þ öíöì„þ ÷“þ!îûÐ îÄy„þöìÝþ!îûëûyîû ö„þy¡ì ²Ìy‰þ#öìîûîû
öþ™þ™!Ýþöìvþy@Õy£zöì„þ˜ ¢‚öìÙÕ¡ì’ îõþ „þöìîû öþ™!˜!¢!œ˜ „þy‹
„þöìîûÐ

8. (a) ÝþÆy!„þëûy xyîûöìŸyœyîû Ù»y¢xDÐ
9. (a) £zöìÞÝþyöì‹˜ £îûöì›y˜!Ýþ ›!£œyöì”îû ›%…Ä öëï˜ £îûöì›y˜Ð
10. (c) îÊyáþ¢›yöì‹îû ›)œ „þíy !Šéœ ~öì„þÙ»îûîy”Ð
11. (d) îy•Ä“þy›)œ„þ þ™!îû„þÒ˜y

 ö„þw#ëû þ™!îû„þÒ˜y „þ“,Åþþ™Çþ ¢›yöì‹îû ¢öìîÅy_› ßþºyöìíÅ
xíÅ÷ì̃ !“þ„þ „þyëÅe«› ¢Á™y”˜ „þöìîû îöìœ ~„þ!Ýþ ¢›y‹“þy!sþf„þ
þ™!îû„þÒ˜y “þ…˜ xþ™!îû£yëÅ þ™!îû„þÒ˜y îœy £ëûÐ

12. (a) 69“þ› ò!šþÍÃöìšþëûyîû xÄyçëûyvÅþ 2024’é =‹îûyöìÝþ x˜%!Ûþ“þ
£œÐ îû’î#îû „þyþ™%îû xÄy!˜›yœ !šþöìÍÃ ²Ì•y˜ ‰þ!îûöìe x!¦þ˜öìëûîû
‹˜Ä ö¢îûy x!¦þöì̃ “þyîû þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìœ˜Ð

13. (c) ~„þ
14. (d) xyöìœy„þ “þ!vþüê !e«ëûy
15. (c) îöìîûw¦)þ!›

 ~£z xMþéœ!Ýþ þ™!Øþ›îöìDîû vþz_îûéôéþ™!Øþ› !”˜y‹þ™%îû ~î‚
”!Çþ’ !”˜y‹þ™%îû ç ›yœ”y ö‹œy ‹%öìvþü îûöìëûöìŠéÐ

16. (d) !šþöìîûy‹ Ÿy£ “%þ‡œ„þ
 !šþöìîûy‹ Ÿy£ “%þ‡œ„þ (1309-1388) “%þ‡œ„þ î‚öìŸîû
~„þ‹˜ ›%¢!œ› Ÿy¢„þ !Šéöìœ˜Ð !ë!˜ 1351 öíöì„þ 1388
¢yœ þ™ëÅhsþ îûy‹c „þöìîû!Šéöìœ˜Ð

17. (a) Ÿöì·îû “þîûD ÷”‡ÅÄ xyöìœyöì„þîû “þîûD ÷”‡ÅÄ xöìþ™Çþy îvþü £ëûÐ
18. (b) ¢Á±!“þ ¢%öìîûŸ çëûyöì”„þîû œ“þy ›öìDŸ„þîû þ™%îûßþñyöìîû ¦)þ!¡ì“þ

£öìœ˜Ð
19. (c) ‹!uþ¢ £öìœ îûöì_« !î!œîû&!îöì̃ îû ›yey öîöìvþü ëyëû šþöìœ c„þ

îy ö‰þyöì…îû ¢y”y x‚Ÿ ç x˜Äy˜Ä !›vþz„þy¢ !Gþ!ÍÔ £œ%” £öìëû
ëyëûÐ îûöì_« !î!œîû&!îöì̃ îû ‡˜c 1.2 mg/dL ~îû ˜#öì‰þ
íyöì„þÐ 3 mg/dL ~îû öî!Ÿ £öìœ ‹!uþ¢ £ëûÐ

20. (a) 1820 !…ÊÞÝþyöì·
21. (c) èîûDöì‹î

1658-1707 !…Êƒ îûy‹c„þyœÐ 1659 !…Êƒ ‹%̃  ›yöì¢ x!¦þöì¡ì„þ
£ëû ~î‚ òxyœ›!†îû îy”Ÿy£ †y!‹ó vþzþ™y!• •yîû’ „þöìîû̃ Ð

22. (c) 19(1) E •yîûyëû
¦þyîûöì“þîû ¢‚!î•yöì̃ îû x˜%öìFŠé” 19(1) E •yîûyëûÐ

23. (d) ›y§¬yîû vþzþ™¢y†îû
›y§¬yîû vþzþ™¢y†îû ~„þ!Ýþ !îŸyœ x†¦þ#îû vþzþ™¢y†îû ëy ¦þyîû“þ
›£y¢y†öìîûîû œÄy„þyvþy£z¦þ ¢›%öìoîû x‚ŸÐ ëyîû †vþü †¦þ#îû“þy
5.8 !›Ýþyîû (19 š%þÝþVÐ ~!Ýþ ×#œBþyîû þ™!Øþ› vþzþ™„)þœ ~î‚
¦þyîûöì“þîû ”!Çþ’éôéþ™)îÅyMþéöìœîû „þîû›[þœ vþzþ™„)þœ xMþéöìœ
xî!ßþi“þÐ

24. (c) 2024 ¢yöìœîû çëûyÓÅþ ö²Ì¢ !šÊþvþ› !”îöì¢îû !í› !Šéœ ‘A
press for planet : Journalism in the face of the
Environmental crisis’.

25. (b) 300A •yîûyëû
x˜%öìFŠé” 300A, xy£zöì̃ îû „þ“,Åþöìcîû ›y•Äöì› îÄ!_«îûy ¢Á™!_
öíöì„þ î!Mþé“þ £öìî ˜yÐ

26. (a) xöìÝþyöì‹y›
›y˜%öì¡ìîû Ÿîû#öìîû 22!Ýþ xöìÝþyöì‹y› ~î‚ ~„þöì‹yvþüy öëï˜
öe«yöì›yöì‹y› îûöìëûöìŠé SX ~î‚ YVÐ

27. (a) ÷›!íœ# ö„þy!„þœ îœy £ëû !î”Äyþ™!“þöì„þÐ !“þ!˜ îÊ‹î%!œ ¦þy¡ìyëû
÷î¡Œî þ™”yîœ# îû‰þ˜y „þöìîû̃ Ð ÷î¡Œî þ™”yîœ# ×#„,þ¡Œ ç
îûy•yîû ö²Ì›– îûy†– þ™)îÅîûy† £z“þÄy!” !˜öìëû xyöìœy!‰þ“þ £öìëûöìŠéÐ

28. (a) ‰þyþ™ î,!kþîû šþöìœ îîûöìšþîû †œ˜yBþ î,!kþ þ™yëûÐ
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29. (b) £zíy˜öìœîû ~„þ!Ýþ xy£zöì¢y›yîû £œ vþy£zéôé!›íy£zœ £zíyîûÐ
30. (b) ¢Á±!“þ çëûyÓÅþ £z„þ˜!›„þ öšþyîûy› ¢‚ßþiyîû “þîûöìšþ ²Ì„þy!Ÿ“þ

£œ çëûyÓÅþ ÞÝþ„þ ›yöì„ÅþÝþ !îûöìþ™yÝÅþÐ ~£z !îûöìþ™yöìÝÅþ ¦þyîûöì“þîû ßþiy˜
‰þ“%þíÅÐ

31. (c) ”%†Åy”y¢ îûyöìàþyîû
î%öì̈ œîûy !Šéœ ›•Ä ¦þyîûöì“þîû ~„þ îûy‹þ™%“þöì†yÛþ#Ð î%öì̈ œy
!îöìoyöì£îû ö˜“,þc ö”˜ î%öì̈ œ…öì[þîû îûy‹Ä ‰þ¨ê îûyëû– ”%†Åy”y¢
îûyöìàþyîûÐ “¤þyîû þ™%e ŠéeŸyœ þ™%̃ îûyëû èîûDöì‹öìîîû !îîû&öìkþ
!îöìoy£# £öìëû çöìàþ˜Ð

32. (a) þ™ÄyÝþ
”yöì›y”îû vþzþ™“þÄ„þyîû ”!Çþöì’ xî!ßþi“þ îû¤y!‰þ ›yœ¦)þ!›îû þ™!Øþ›
x‚Ÿ þ™ÄyÝþ îöìœ þ™!îû!‰þ“þÐ ¢y£yîûy ›îû&¦)þ!› xMþéöìœ xöì̃ „þ
îy…Åy˜ ö”…y ëyëûÐ

33. (a) 1953 ¢yöìœ
þ™!Øþ›îöìD ¦)þéôé¢Á™!_ @ùÌ£’ xy£z̃  ²Ì’#“þ £ëû 1953 ¢yöìœ
~î‚ þ™!Øþ›îD ¦)þ!› ¢‚ßþñyîû xy£z̃  ²Ì’#“þ £ëû 1956 ¢yöìœÐ
~£z ”%!Ýþ xy£z̃  ²Ìí› þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yëû †,£#“þ £ëûÐ

34. (b) ›)e ÷“þ!îû „þöìîû
35. (c) ˜y£zöìÝþÆyöì‹˜
36. (b) ¢Á±!“þ !‹Áºyöìîyöìëûîû xíÅ ¢‚„þÝþ ö›y„þy!îœy „þîûyîû vþzöìjöìŸÄ

‰þyœ% „þîûy ˜“%þ˜ ›%oyîû ˜y› £œ ZiG.
37. (a) x˜%Ÿ#œ˜ ¢!›!“þ

1902 !…ÊÜTyöì·îû 24 ›y‰Åþ }!¡ì î!Bþ›‰þöìwîû òx˜%Ÿ#œ˜ “þ_ó́éôéîû
xy”öìŸÅ ~î‚ îÄy!îûÞÝþyîû !þ™. !›e S²Ì›í˜yí !›eVéôéîû
¢¦þyþ™!“þöìc „þœ„þy“þyëû îy‚œyîû ²Ìí› !î²Õî# ö„þw òx˜%Ÿ#œ˜
¢!›!“þó ²Ì!“þ!Ûþ“þ £ëûÐ

38. (c) 1961 !…ÊÞÝþy·
þ™yœÅyöì›öìrÝþîû öëïí x!•öìîŸ˜ xy£ý˜ „þöìîû̃  îûyÜTÉþ™!“þÐ ë%@Â
x!•öìîŸöì̃  ¢¦þyþ™!“þc „þöìîû̃  öœy„þ¢¦þyîû !ßþ™„þyîûÐ

39. (d) “þy›y– ”hßþy– !˜öì„þœ
40. (b) ¦þy£z¢›Äy˜
41. (d) xyöìœyöì„þîû ¢yöìí !î!e«ëûy xyöìŠé
42. (c) 2027 ¢yöìœ ~!Ÿëûy˜ š%þÝþîœ „þyþ™ ö¢ï!” xyîûöìî x˜%!Ûþ“þ

£öìîÐ ~!Ÿëûy˜ š%þÝþîœ „þyþ™ ²Ì!“þ ‰þyîûîŠéîû xhsþîû x˜%!Ûþ“þ
£ëûÐ

43. (b) !¦þÝþy!›˜éôéA
44. (b) ›£#Ÿ)îû
45. (c) Ca(OH)2

 ö¢y!vþëûy› £y£zvÈþ:y£zvþ ~„þ!Ýþ îûy¢yëû!˜„þ þ™”yíÅ ëy „þ!ÞÝþ„þ
ö¢yvþy ˜yöì› þ™!îû!‰þ“þÐ

46. (d) „,þ!¡ìoîÄ
 ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ ö†yvþüyîû !”„þ öíöì„þ£z „,þ!¡ìîû çþ™îû
x!•„þ =îû&c xyöìîûyþ™ „þîûy £öìëûöìŠéÐ 1066-67 öíöì„þ 1970-
71 ~öì”öìŸîû „,þ!¡ìöì“þ …y”ÄŸöì¢Äîû vþzêþ™y”˜ î,!kþ ¦þyîûöì“þîû
xíÅ÷ì̃ !“þ„þ £z!“þ£yöì¢îû xyöìœy‰þ˜yëû !‰þîûßþ¿îû’#ëûÐ

47. (b) öîîy”œ …¤y
 1700 Ÿ“þy·#öì“þ ›%‡œ ¢ÁËyÝþ Ÿy£‹y£yöì̃ îû îûy‹c„þyöìœ
²Ìlßþ“þ„þîû’ Öîû& „þöìîû!Šéöìœ˜Ð

48. (a) ¢Á±!“þ ò!Ÿ†öì›yó vþzê¢î ö†yëûy îûyöì‹Ä þ™y!œ“þ £œÐ
49. (a) xy!œþ™%îû öîy›y ›y›œy éôôôé ›y!˜„þ“þœy öîy›y ¡ìvþüësþf ›y›œy

˜yöì›ç þ™!îû!‰þ“þÐ
50. (b) ö‹y˜yí˜ vþy˜„þy˜

 1791 ¢yöìœ öî˜yîûöì¢ ¢‚ßþ,ñ“þ „þöìœ‹ ²Ì!“þÛþy „þöìîû̃
!£¨% xy£z̃  ç ”ŸÅ̃  !˜öìëû þ™vþüyöìŸy˜yîû ‹˜ÄÐ
 ö‹y˜yí˜ vþy˜„þy˜ 27 !vþöì¢Áºîû 1795 öíöì„þ 1811
!…ÊÞÝþy· þ™ëÅhsþ öîyÁºy£z ²Ìöì”öìŸîû †¦þ˜Åîû !Šéöìœ˜Ð

51. (a) ¢”Åyîû þ™ÄyöìÝþœ
 ~Šéyvþüy ö›ï!œ„þ x!•„þyîû ç ¢‚…Äyœ‡% „þ!›!Ýþîû ö‰þëûyîû›Äy˜
!Šéöìœ˜ ¢”Åyîû þ™ÄyöìÝþœÐ

52. (d) vþzþ™öìîûîû ¢î=!œ
53. (c) ˜›Å”y

˜›Å”y ˜”# ›£y„þyœ þ™îÅöì“þîû x›îû„þrÝþ„þ Ÿ,D öíöì„þ vþzêþ™§¬
£öìëû 1310 !„þ!› x!“þîy!£“þ £öìëû …yÁºy“þ vþzþ™¢y†öìîû þ™!“þ“þ
£öìëûöìŠéÐ ~îû vþzþ™˜”#=!œ £œéôôôé !£îû̃ – î˜Åy– ö„þyœyîû– “þyçëûy–
„%þ!hsþÐ

54. (b) vþy‰þéôéöîœ!‹ëûy› öîû!¢‚ vÈþy£z¦þyîû ›Äy: ¦þyîûÞÝþyöìþ™˜ šþ›%Åœyéôé1
„þy˜y!vþëûy› @ùÌÄyuþ !²Ì: !‹“þöìœ˜Ð

55. (b) Znéôé~îû †¤%öìvþüy ~î‚ NaOHéôé~îû ¢yöìí ö¢y!vþëûy› ˜y£zöìÝþÆÝþ
vþz_® „þîûöìœ NO2 þ™yçëûy ëyëûÐ ~!Ýþ “þ#îÊ G¤þyGþyöìœy †õþ ç
îy”y›# îûöì̂ îû öîy“þöìœ îûy…y £ëûÐ vþzF‰þ “þyþ™›yeyëû ~!Ýþ œyœöì‰þ
îy”y›# îûöì̂ îû †Äy¢Ð

56. (c) ”%†Åyþ™%öìîû öœï£ £zßþ™y“þ !ŸÒ †öìvþü vþzöìàþö ìŠé !îÊöìÝþöì˜îû
¢£öìëy!†“þyëûÐ

57. (d) ÷‹î î‹ÅÄ þ™”yöìíÅîû ‹yîû’ ‡!Ýþöìëû þ™”yöìíÅîû Çþ!“þ„þyîû„þ ²Ì„,þ!“þ
!î˜ÜT „þîûyöì„þ îöìœ !îû¢y£z!„Ïþ‚Ð

58. (d) !‹öì¦þîû þ™Øþy” x‚öìŸ ö“þöì“þy ßþºy” x˜%¦)þ“þ £ëûÐ
59. (c) ˜î› þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yëû ¢îÅ!ŸÇþy x!¦þëy˜ ‰þyœ% £ëûÐ

~£z ¢›ëû ²Ì•y˜›sþf# !Šéöìœ˜ xÝþœ !î£yîû# îy‹öìþ™ëû#Ð 2001
¢yöìœ ~£z ²Ì„þÒ!Ýþ îûy‹ßþiy˜ öíöì„þ ‰þyœ% £ëûÐ

60. (c) †Äy¢ xí!îû!Ýþ xšþ £z!uþëûy !œ!›öìÝþvþ ›•Ä²Ìöì”öìŸîû !î‹ëûþ™%öìîû
vþzöìmy•˜ „þîûœ ²Ìí› î,£_› !@ùÌ˜ £y£zöìvÈþyöì‹˜ ²ÕÄyrÝþÐ

61. (a) ö„þŸîy˜¨ ¦þyîû“þ# î˜y› ö„þîûœ îûy‹Ä ›y›œy 1973 !…ÊÞÝþyöì·
£öìëû!ŠéœÐ ~£z ›y›œyëû ¢%²Ì#› ö„þyÝÅþ îöìœ ²Ìhßþyî˜y ¦þyîû“þ#ëû
¢‚!î•yöì̃ îû ~„þ!Ýþ =îû&cþ™)’Å x‚ŸÐ

62. (c) œvÅþ çëûyöì¦þœéôé~îû ¢›ëû ò!¢›œy ‰%þ!_«ó ßþºyÇþ!îû“þ £ëûÐ ~£z
‹˜Ä ~£z ‰%þ!_«öì„þ çöìëûöì¦þœ þ™!îû„þÒ˜yç îœy £ëûÐ 1940
¢yöìœ ~!Ýþ ¦þyîû“þîöì¡ìÅ xyöì¢Ð

63. (c) ²Ì•y˜›sþf# !˜öìëûyöì†îû öÇþöìe ¢‚!î•yöì̃  ö„þy˜ !îöìŸ¡ì þ™sþiyîû
vþzöìÍÔ… ö˜£zÐ ¢‚!î•yöì̃ îû 75 ˜‚ •yîûyëû îœy £öìëûöìŠé öë
²Ì•y˜›sþf# îûyÜT Éþ™!“þ „þ“,Åþ„þ !˜ë%_« £˜ ~î‚ ²Ì•y˜›sþf#



3Achievers

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

þ™îûy›ŸÅe«öì› îûyÜTÉþ™!“þ x˜Äy˜Ä ›sþf#öì”îû !˜ë%_« „þöìîû̃ Ð ~£z
„þyîûöì’ ²Ì•y˜›sþf# ç “¤þyîû ›!sþf¢¦þy öœy„þ¢¦þyîû „þyöìŠé
öëïí¦þyöìî ”y!ëûcŸ#œ íyöì„þÐ

64. (a) œvÅþ ˜íÅîÊ&„þ 1876 !…Êƒ ˜yÝþÄy!¦þ̃ ëû !˜ëûsþf’ xy£z̃  ‰þyœ% „þöìîû̃ Ð
65. (c) œyöì£yvþü ¡ìvþüësþf ›y›œyîû ~„þ ˜Áºîû xy¢y›# !Šéöìœ˜ îûy¢!î£yîû#

î¢%Ð
66. (c) vþƒ ~¢ îûy•y„,þ¡Œy˜

ßþºy•#˜ ¦þyîûöì“þîû ²Ìí› vþzþ™îûyÜTÉþ™!“þ ~î‚ !m“þ#ëû îûyÜTÉþ™!“þ
!Šéöìœ˜Ð !“þ!˜ ~„þy•yöìîû îûy‹˜#!“þ!î”– ”yŸÅ!˜„þ Šéyvþüyç
x•Äyþ™„þ !Šéöìœ˜Ð “¤þyîû îû!‰þ“þ @ùÌsþi!Ýþ £œ ‘The Hindu
Way of Life’Ð

67. (b) èþ™!˜öìî!Ÿ„þ ßþºyëû_ Ÿy¢˜
ßþºîûy‹Ä ”öìœîû ‰þîû› œÇþÄ !Šéœ èþ™!˜öìî!Ÿ„þ ßþºyëûc Ÿy¢˜
x‹Å̃  „þîûyÐ “þyöì”îû vþzöìjŸÄ !Šéœ (1) xy£z̃ ¢¦þyîû !˜îÅy‰þöì̃
!‹öì“þ ¢¦þyîû !¦þ“þîû öíöì„þ ¢%¢‚‡îkþ– !˜ëû!›“þ– !˜îûhsþîû
îy•y ”y˜ „þöìîû ¢îû„þyîûöì„þ !îþ™yöì„þ öšþœy (2) ¢îû„þy!îû îyöì‹Ýþ
²Ì“þÄy…y˜ „þîûy (3) ˜y˜y !îœ ç ²Ìhßþyî “%þöìœ ‹y“þ#ëû“þyîyöì”îû
x@ùÌ†!“þöì„þ ¢y£yëÄ „þîûyÐ

68. (a) 2000 ¢yöìœîû ˜öì¦þÁºîû ›yöì¢
¢îÅ!ŸÇþy x!¦þëy˜ Öîû& £ëû ˜î› öëy‹˜y„þyöìœ 2000 ¢yöìœîû
˜öì¦þÁºîû ›yöì¢Ð œÇþÄ 2007 ¢yöìœîû ›öì•Ä (6-14) îŠéöìîûîû
!ŸÖöì”îû ²Ìyí!›„þ !ŸÇþyîû 5 îŠéîû þ™)!“Åþ „þîûy ~î‚ 2010
¢yöìœîû ›öì•Ä ~£z îëû¢ ¢#›yîû !ŸÖöì”îû ²Ìyí!›„þ !ŸÇþyîû 8
îŠéîû ¢›y® „þîûyÐ

69. (a) ›£yîûyÜTÉ
¦þyîûöì“þ öœï£éôéxy„þ!îû„þ vþzêþ™y”öì̃  ²Ìí› ç!vþŸy– !m“þ#ëû ßþiyöì̃
îûöìëûöìŠé Šé!_Ÿ†vþü– “,þ“þ#ëû ßþiyöì̃  îûöìëûöìŠé Gþyvþü…[þ– ‰þ“%þíÅ ßþiyöì̃
îûöìëûöìŠé „þ’ÅyÝþ„þ– þ™Mþé› ßþiyöì̃  îûöìëûöìŠé ö†yëûyÐ

70. (c) x÷ìm“þîy”éôé~îû ²Ìî“Åþ„þ £öìœ˜ ŸBþîûy‰þyëÅÐ
71. (b) “þy®# ˜”# !›öìŸöìŠéé …yÁºy“þ vþzþ™¢y†öìîûÐ “þy®# ˜”# ¢y“þþ™%îûy

þ™îÅ“þöì×!’ ›•Ä²Ìöì”öìŸîû ›%œ“þy£z ˜y›„þ ßþiy˜ öíöì„þ vþzêþ™§¬
£öìëû =‹îûyöìÝþîû …yÁºy“þ vþzþ™¢y†öìîû þ™öìîûöìŠéÐ

72. (a) ‰þîû›þ™sþi# ~î‚ ˜îû›þ™sþi#öì”îû ›öì•Ä îõ%þc ßþiyþ™öì̃  ¢y£yëÄ
„þöìîû!Šéöìœ˜ xÄy!˜ öî¢yhsþÐ !“þ!˜ ~„þ‹˜ xy£z!îûŸ ›!£œy
!Šéöìœ˜Ð “¤þyîû ²Ì„þy!Ÿ“þ þ™!e„þy £œ ò„þ›˜vþz£zœóÐ

73. (d) †y!õþ‹#îû ‰þÁ™yîû’ xyöì̈ yœöì̃ îû ›)œ „þyîû’ !Šéœ ˜#œ ‰þy¡ì
„þîûy ›y˜%¡ìöì”îû ¢›¢Äyîû ¢›y•y˜ „þîûyÐ

74. (b) xy„þîîû ¢“þ#”y£ ²Ìíyöì„þ !˜ëûsþf’ „þîûyîû xy£z̃  ²Ì‰þœ˜ „þöìîû̃
~î‚ 1582 !…Êƒ e«#“þ”y¢ ²Ìíyîû ¢Á™)’Å !îœ%® ‡Ýþy˜Ð

75. (b) šþöì“þþ™%îû !¢!e«
1572 !…Êƒ !˜!›Å“þ šþöì“þþ™%îû !¢!e« xy„þîöìîûîû ßþiyþ™öì“þÄîû ö×Ûþ
!˜”ŸÅ̃ Ð =‹îûyÝþ !î‹ëûöì„þ ßþ¿îû’#ëû „þöìîû îûy…yîû ‹˜Ä xy„þîîû
šþöì“þþ™%îû !¢!e«îû ²Ìy¢y” ”%†Å ¢‚œ@À ~„þ!Ýþ !îŸyœ šþÝþ„þ !˜›Åy’
„þöìîû̃  ëy î%œ¨ ”îûçëûy‹y (1602 !…ÊƒV ˜yöì› …Äy“þÐ

76. (a) 6 9 18 45 135

11
2

× 12
2

××2 ×3

77. (a) 5 xöìBþîû Ç%þo“þ› ¢‚…Äy 10000
10000ôéö„þ 213 myîûy ¦þy† „þîûöìœ– ¦þy†šþœ = 46–
¦þy†öìŸ¡ì = 202
 !˜öì’Åëû ¢‚…Äy = 10000 + (213 – 202)
= 10000 + 11 = 10011

78. (b) ²Ì”_ îûy!Ÿ›yœy 
4 1 4 51 (5) 13 62 22 29 9

2

     
 

4 5 4 51 12 6 22 22
3 3

     




4 3 5 3 5 5 51 1 0
8 2 2 2 2 2
        

79. (d) ¢‚…Äy!Ýþîû 
11 7
7 11

  
 

 x‚Ÿ = 144

 ¢‚…Äy!Ýþ
144 144

11 7 121 49
7 11 77

 
      

   

144 77 154
72


 

80. (a) ~öìÇþöìe– !˜öì’Åëû îyÝþ…yîûyîû ç‹˜ £öìî ²Ì”_ ç‹˜=!œîû

†¢y= 3 6 9, ,
10 5 20

éôé~îû †¢y=

3, 6, 9
10, 5, 20

éôé~îû †¢y=
éôé~îû œ¢y=

=  
3

20


 !˜öì’Åëû îyÝþ…yîûyîû ç‹˜
3

20
  ö„þ!‹ 

3 1000
20

   @ùÌy› = 150 @ùÌy›

81. (b) ²Ì”_ îûy!Ÿ 3 3 33 3 3
79507 79507 79507
(10) (100) (1000)

  

3 3 3

3 3 3
43 43 43
10 100 1000
            
     

  3 33 3 33 4.3 (0.43) (0.043)  

4.3 0.43 0.043 4.773   



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 3  ‹%œy£z– 20244

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

82. (c) n = 1 î¢yöìœ– 1
1 1 1U 1
1 1 1 2

   


~„þ£z îû„þ›¦þyöìî n = 2, 3, 4 î!¢öìëû þ™yçëûy ëyëû

2 3
1 1 1 1U , U
2 3 3 4

     ~î‚ 4
1 1U
4 5

 

1 2 3 4U U U U   
1 1 1 1 1 1 11
2 2 3 3 4 4 5

       

1 41
5 5

  

83. (c)
84. (d) A, B, Céôé~îû ›)œ•öì̃ îû x˜%þ™y“þ

1 1 1: : 6 : 4 : 3
2 3 4

 

•îûy ëy„þ– éA, B, Céôé~îû ›)œ•˜ ëíye«öì› 6x Ýþy„þy– 4x Ýþy„þy
ç 3x Ýþy„þyÐ
é A, B, Côé~îû œyöì¦þîû x˜%þ™y“þ

 (6x 2) (3x 10 : (4x 12) : (3x 12)     
42x : 48x : 36x 7 : 8 : 6 

é Bôé~îû œ¦þÄy‚Ÿ 
8378

7 8 6
     

 Ýþy„þy

8378
21

   
 

 Ýþy„þy = 144 Ýþy„þyÐ

85. (a)
îû&£z ›yöìŠéîû ¢‚…Äy

„þy“þœy ›yöìŠéîû ¢‚…Äy
„þy“þœy ›yöìŠéîû †vþü ›)œÄ éôô ¢î ›yöìŠéîû †vþü ›)œÄ

¢î ›yöìŠéîû †vþü ›)œÄ éôô îû&£z ›yöìŠéîû †vþü ›)œÄ
=


îû&£z ›yöìŠéîû ¢‚…Äy

„þy“þœy ›yöìŠéîû ¢‚…Äy
 

300 260 40 4
260 250 10 1


  



 îû&£z ›yöìŠéîû ¢‚…Äy 
450 40

4 1
  


 ~î‚

„þy“þœy ›yöìŠéîû ¢‚…Äy = 50 – 40 = 10

86. (d) A 5 !”öì˜ „þöìîû „þy‹!Ýþîû 
5
20  x‚Ÿ 

1
4

  x‚Ÿ

 îy!„þ „þy‹ 11
4

   
 

 x‚Ÿ 
3
4

  x‚Ÿ

B ¢Á™)’Å „þyöì‹îû 
3
4

 x‚Ÿ „þöìîû 122
2

 !”öì˜Ð

 B ¢Á™)’Å „þy‹ „þöìîû 45 4
2 3

   
 

 !”öì̃  = 30 !”öì˜Ð

 (A + B) ¢Á™)’Å „þy‹ „þöìîû

20 30
20 30

    
 !”öì̃  = 12 !”öì˜Ð

87. (a) …y!œ ö‰þïîyF‰þy!Ýþ þ™)’Å £öì“þ B ˜öìœîû x !›!˜Ýþ œy†öìœ–
A ˜öìœîû (x – 16) !›!˜Ýþ ¢›ëû œyöì†Ð
~öìÇþöìe– 3(x – 16) = x îy– x = 24
 A ç B ̃ œ ”%!Ýþ þ™,í„þ¦þyöìî þ™)’Å „þöìîû ëíye«öì› 8 !›!˜öìÝþ
ç 24 !›!˜öìÝþÐ
 ö‰þïîyF‰þy!Ýþ ~„þöìe þ™)’Å „þîûöì“þ ¢›ëû œy†öìî

8 24
8 24
    

 !›!˜Ýþ = 6 !›!˜ÝþÐ

88. (b) ëyçëûyîû ¢›ëû 40 !„þ!› x!“þe«› „þîûöì“þ ¢›ëû œyöì†

40
10
   
 

 ‡^ùÝþy = 4 ‡^ùÝþyÐ

öëöì£“%þ ëyeyþ™öìí ö›yÝþ ¢›ëû œyöì† 6 ‡^ùÝþy ¢%“þîûy‚– !šþöìîû
xy¢yîû ¢›ëû 40 !„þ!› x!“þe«› „þîûöì“þ ¢›ëû œyöì†
= (6 – 4) ‡^ùÝþy = 2 ‡^ùÝþyÐ
 !šþöìîû xy¢yîû ¢›ëû †!“þöìî†

40
2

   
 

 !„þ!›/‡^ùÝþy = 20 !„þ!›/‡^ùÝþyÐ

89. (d) öÝþÆ̃ !Ýþ 10 ö¢öì„þöìuþ x!“þe«› „þöìîû = 250 !›ÝþyîûÐ

 öÝþÆ̃ !Ýþîû xyöìþ™!Çþ„þ †!“þöìî† 
250
10

   
 

 !›Ýþyîû/ö¢öì„þuþ

1825
5

   
 

 !„þ!›/‡^ùÝþy = 90 !„þ!›/‡^ùÝþy

~…˜– öÝþÆöì̃ îû !˜‹ßþº öî† + îÄ!_«îû öî† = 90 !„þ!›/‡^ùÝþyÐ
 öÝþÆöì̃ îû !˜‹ßþº öî† = (90 – 4) !„þ!›/‡^ùÝþy
= 86 !„þ!›/‡^ùÝþyÐ

90. (a) A ö˜ï„þyîû ößþËyöì“þîû x˜%„)þöìœ öî† = 10 !„þ!›/‡^ùÝþy ~î‚
²Ì!“þ„)þöìœ öî† = 6 !„þ!›/‡^ùÝþyÐ

ößþËyöì“þîû öî† 
10 6

2
   

 
 !„þ!›/‡^ùÝþy = 2 !„þ!›/‡^ùÝþy

 B ö˜ï„þyîû– !ßþiîû ‹öìœ öî†
= x˜%„)þöìœ öî† éôô ößþËyöì“þîû öî† = (8 – 2) !„þ!›/‡^ùÝþy
= 6 !„þ!›/‡^ùÝþyÐ
 B ö˜ï„þyîû– ößþËyöì“þîû ²Ì!“þ„)þöìœ öî†
= Bö˜ï„þyîû !˜‹ßþº öî† éôô ößþËyöì“þîû öî†
= (6 – 2) !„þ!›/‡^ùÝþy = 4 !„þ!›/‡^ùÝþy
 B ö˜ï„þyîû– ößþËyöì“þîû ²Ì!“þ„)þöìœ 60 !„þ!› öëöì“þ ¢›ëû œyöì†

60
4

  ‡^ùÝþy = 15 ‡^ùÝþyÐ



5Achievers

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

91. (b) •îûy ëy„þ– ”ŸÅ„þ î,!kþ þ™yëû x%Ð ~…yöì̃ – ›yíy!þ™Š%é xyëû × ”ŸÅ„þ
¢‚…Äy = ö›yÝþ xyëûÐ
˜“%þ˜ xyëû ç þ™)öìîÅîû xyöìëûîû x˜%þ™y“þ
= (100 – 20) (100 + x) : (100)2

²ÌÙÀy˜%¢yöìîû– 2
(100 20) (100 x) 128

100(100)
 



[  xyöì† xyëû 100 Ýþy„þy £öìœ î“Åþ›y˜ xyëû 128 Ýþy„þy]

îy– 12800100 x
80

   îy– x = 160 – 100 = 60

 ”ŸÅ„þ î,!kþ þ™yëû = 60%
92. (b) •îûy ëy„þ– oîÄ!Ýþîû e«ëû›)œÄ 500x Ýþy„þyÐ

[
3
5

  ç 
2
5 éôé~îû £îû 5]

 3
5

 x‚öìŸ œy¦þ 
3 15500x
5 100

     
 Ýþy„þy

= 45x Ýþy„þyÐ

2
5

 x‚öìŸ Çþ!“þ  
2 10500x
5 100

     
 Ýþy„þy

= 20x Ýþy„þyÐ
²ÌÙÀy˜%¢yöìîû– 45x – 20x = 32

îy– 
32x
25

  îy– 500x = 640

 oîÄ!Ýþîû e«ëû›)œÄ = 640 Ýþy„þyÐ
93. (a) ²Ìí›– !m“þ#ëû ç “,þ“þ#ëû x‚öìŸîû x˜%þ™y“þ

1 1 1
: :

100 5(18 14) 100 5(18 12) 100 5(18 10)     

1 1 1: : 91: 84 : 78
120 130 140

 

›•Ä› þ™%e þ™yëû 
8425300

91 84 78
     

 Ýþy„þy

= 8400 Ýþy„þyÐ

94. (a) ~öìÇþöìe– 
3665.50 11

500 10
    
 

1/t31110 100 1
10

              

îy– 
3/t11 1 111

10 10 10
     
 

îy– 
3 1 t 3
t
  

 ¢›ëû 3 îŠéîû £öìîÐ
95. (b) ~…yöì̃  x = 40%, y = 46%, p = 60 kg

…¤y!Ýþ “þy›y ö›Ÿyöì“þ £öìî 
46 4060

100 46
    

 ö„þ!‹

     
26
3

  ö„þ!‹Ð

96. (d) îy†y˜!Ýþîû ²Ìßþi 
32
4

  !›Ýþyîû = 8 !›ÝþyîûÐ

97. (c) 100 ö£Qîû = 1 î†Å!„þ!›

 8 ö£Qîû 
8

100
  î†Å!„þ!›

 î†Åy„þyîû öÇþöìeîû ÷”‡ÅÄ 
8

100
  !„þ!› 

2
5

  !„þ!›Ð

 „þ’Å 
2 . 2

5
  !„þ!› 

2
5

  !„þ!›Ð

 !˜öì’Åëû ¢›ëû 
”)îûc
öî†=  

2 / 5
1/15

  !›!˜Ýþ = 6 !›!˜ÝþÐ

98. (a) þ™!îû¢#›y a 2( 2 1) 2 2( 2 1)   
îy– a = 2

öÇþešþœ 
21 a

2
  î†Åöì¢!›

21 (2)
2

  î†Åöì¢!› = 2 î†Åöì¢!›Ð

99. (d)

!›.15

!›.2

!›.

13

þ™y„Åþ!Ýþîû î!£îÅÄy¢y•Å (R) = 15 !›Ýþyîû ~î‚ þ™í!Ýþîû öî•
(W) = 2 !›Ýþyîû
~î‚ þ™y„Åþ!Ýþîû xhsþîÅÄy¢y•Å (r) = (15 – 2) = 13 !›ÝþyîûÐ

 þ™í!Ýþîû öÇþešþœ 
2 2

[(15) (13) ]    î†Å!›Ýþyîû
= 176 î†Å!›ÝþyîûÐ
 ö›yÝþ …îû‰þ = (176 × 100) Ýþy„þy = 17600 Ýþy„þyÐ

100.(a) þ¢›@ùÌ“þöìœîû öÇþešþöìœîû î,!kþ
2

(20)2 20 % 44%
100

 
    
  
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